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from quoracle import *

a = Node('a')
b = Node('b')
c = Node('c')
majority = QuorumSystem(reads=a*b + b*c + a*c)

print(majority.fault_tolerance()) # 1
print(majority.load(read_fraction=1)) # 2/3
print(majority.capacity(read_fraction=1)) # 3/2
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import datetime

def seconds(x: int) -> datetime.timedelta:
    return datetime.timedelta(seconds=x)

a = Node('a', latency=seconds(1))
b = Node('b', latency=seconds(2))
c = Node('c', latency=seconds(3))
d = Node('d', latency=seconds(4))
e = Node('e', latency=seconds(5))
f = Node('f', latency=seconds(6))
grid = QuorumSystem(reads=a*b*c + d*e*f)

grid.latency(read_fraction=0.5, optimize='latency') # 0:00:03.500000
grid.network_load(read_fraction=0.5, optimize='network') # 2.5













quorum_system.capacity(read_fraction=0, f=1) 



quorum_system, strategy = search(
    nodes=[a, b, c, d, e, f],
    resilience=1,
    f=1,
    read_fraction=0.75,
    optimize='load',
    latency_limit=seconds(4),
    network_limit=4,
    timeout=seconds(60),
)







pip install quoracle

github.com/mwhittaker/quoracle


